Join Telegram Group "gradein” |
HSSC CET Group D Question Paper 21 Oct 2023 1st Shift

1. &9, I 9o sfeawe - @ gerdl o1 gy 9rd %

e aE?
(1) dom
(2) TSTE
(3) effeswm
4) @

(5) WA < HRd |
2. 9RA I fE o T e g 2

(1) 1930
2) 1950
3) 1947
@) 1951
(5) W T ERd |
8. WU 2011 % ER, I 1 AT T
(1)  73.0
2) 78.0
3) 88.0
4) 83.0

(5) W T ARy
4. Y H e an 9

(1) 6371 f&.
(2) 8371 f%.
(3) 9371 fE s,
4) 2371 fF.
(5) W& e a9y
= BN TR 3T e v w3
(1) g fig
(2) SRy
) e uETa
4) < wsq
O) I 9wy
R S GE W%HWW‘W%WI‘:WW
?
(1) 9. ST
(2) HER Tea99E gig
() A e
(4 OR o Jew
(S) ST TR 9wy

i 8

Appam, Puttu and Idiyappam - food items,
belong to which State of India ?

(1)  Punjab
(2) Gujarat
(3) Orissa
(4) Kerala

(5) Not Attempted

Which year did India attain freedom ?

(1) 1930
2) 1950
3) 1947
4) 1951

(5) Not Attempted

As per Census 2011, the literacy rate in India
is :

(l). 73.0

(2) 78.0
(3) 88.0
(4) 83.0

(5)  Not Attempted

What is the radius of the earth ?

(1) 6371 km
(2) 8371 km
(3) 9371 km
4) 2371 km

(5)  Not Attempteqd

Who is the author of the hook - ‘A History of
British Ingdig’ ?

(1) James Mmj

(2)  Warren Hastings
) Lord Mountbaten
(4 Lord Curgop,

(5) Not Attempted

WhO Serve
Genera] »

(1) C. Rajagopatachari

() Sardar Vallabhbhai Patel
3)  Maulana Azad

(4)  Jawahar Lal Nehru

(5)  Not Attempted

d as free India’s first Governor-
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. CEaTd Y.
7 i ?; ’ 7. ‘CE’refers to :
(1) ai'e A 3fe (1)  Coast of Egypt
(2) MR (2)  Common Estimate
(3) ATy (3) Common Era
(4) FeeEm (4) Casual Era
(5) ST I = ; (5)  Not Attempted
R — . ) : 8.  Mission Indradhanush’; 1 hed i
8 2014’&‘?’[{*{@ wamgang HRAT 2014 is: Surictiec i he year
(1) feum ﬁ ﬁf‘rﬂ?m Eq Waﬁ =i gfd (1)  To provide information, commodities
%ﬂﬁfﬂaﬂ'ﬁ, Wamwm FEN and service to meet the diverse need of
(2)  Frafa S 3w s S s @) 2d°1escents'
) ' 0 cover children who have b
IR Iﬁa?mmaﬁmml partially or not vaccinated dureiflr;
(3) mmaﬁmamww routine immunisation rounds. -
mmm | (8) To provide affordable and quality
) ) healthcare to the rural population.
(4)  dfed =i =it fan wem we) (4) To provide education to the deprived
(5) R Tl < =R | children.
(5) Not Attempted
9. fava vyaterwr feaw v S @
(1) 53H 9. World Environment Day is celebrated on :
1) 5t June
@ 7% ;
(2) 7t June
@) 5T (3) 5thJuly
(4) 7 IR 4) 7t July
(5) W T < e | (5) Not Attempted
10. et & = o feerd e 1 T 10. The earth is surrounded by a layer of gases
(1) = called :
() RS [f) zome
. : (2) Environment
(3) agHSA (3) Atmosphere
(4) SieEg (4) Climate
(5) SR T = | (5) Not Attempted
- ? amme ?
11. W(MAA)WWWWW%'? ; full form of MAA’ Prog”
11. Whatis thefu tion
(1) e e (e Teee STHRT) (1) Mother’s Absolute f\iicn o
: - 3 ), lute
@ i E e (R T $E) (2) Mother's AbSOR "
: i Mother And Adolesce adolescent
(3) Wiwd fReR (TR TS ITEHE) . (3) trual hygiene AMOE
(@) frof § i e Fee e (e @ fol
' ted 3
5) Sl o R | i HWORK
WAT:i /) G1 5 % Torg a1/ SPACE FOR ROUG
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12. ‘g’ fefatad # 9 frae e €9 R, Y odae
T T S & 2
(1)
(2) gue
(3) Sy
(4) S
(5) ST TR < =R |
13. i sEentyen favafammed el eafq 82
(1) e
(2)
(3) feoed
4) &S
(5) ST TG <1 =ed |
14. Trefafed § ¥ SH- FEHT i TEh L@
foeerdl § Y faen T fogen sfaria o=l I T
T oM YoM el S €2
(1) g THE
(2) TEAE WS
(3) 9 wed, o gl
(4) o foen arfiam
(5) SR TRl o e |
15. ‘dfig’ vd 9RA % fohg T H HAAAT ST § 2
(1) ARH
(2) o=
(3) SWIW
(4) SEH
(5) SR @ o1 =@ed |
16. afe frdlt safad 1 gah 19 HIAT 898 AL S, Al SHH

& 1 P 9o 5N fhee fofan S €, 37 a8
Sfifed 78t 18 GehaT| I8 Wishal FHeamd © :
(1) Soge

12.

13.

14.

15.

16.

‘Lugda’ is a kind of which oné of the fOHOWiIlg
that is worn in Chhattisgarh ?

(1) Saree

(2) Dupatta

(3) Ornament

(4) Footwear

(5) Not Attempted

Where is Jamia Islamia University situated ,

(1) Aligarh

(2) Bhopal

(3) Delhi

(4) Lucknow

(5) Not Attempted

Which one of the follovs'ring refers to the
programme introduced in all government
elementary schools to provide children with

cooked lunch ?
(1) Mahila Samakhya
(2) Mid-day meal

(3) Beti Bachao, Beti Padhao
(4) Sarv Shiksha Abhiyan
(5) Not Attempted

‘Bihu’ festival is celebrated in which Indiar
State ?

(1) Karnataka

(2) Punjab

(3) Uttar Pradesh
(4) Assam

(5) Not Attempted

If a person’s kidney stops working. Th
canno_t sprvive unless their blood is filter
by artificial kidney. This process is called

i (1) Excretion
SRISIRE (2) Dialysis
(3) w}?ﬁ (3) Transpiration
(4) T:ra;rgq (4) Elimination
(5) S| TE o =@Ed | (5) Not Attempted
VNATH/G1 3% 1Y & foTu T2l / SPACE FOR ROUGH WORK ~Pat
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17. Trefeafes & 4 g .
(1) e mwwﬁﬁ%?
(2) HEEw
B) =Nigw
(4) W% Aew
(5) ST TE I Ry
18. FSN Wl TH.STE, s w0
(1) 7™
2 T
B USs
(4) =™
(5) SWTEH < IR
19. T TISH 99 TUUN H T=H S 1 g W
€1 <9 SR wfafa % ofte fraet g0 2rft 2
(1) 100 H3HR
2) 25¥IHRR
(3) 50 FIHR
@) 75 "aHX
(5) W TR o1 =R |
20. 1 gfrar § o & @ g fedt
ey ST STavdehdl Tel efdl © |
(1) fafezor
2) =eH
(3) e
(4) ereEREs
(5) e & A |
21. qan et @ B el el
gl
(1) EwiEe SR AR
() FG-ad @i gt
3) =l amzw
(@) difern @R e
_ B w?ﬁﬂ' ~ 7 v <l SPACE FOR RO
VNATH/ G1
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17,

18,

19.

20.

21.

??i\};)]:t:t (;f the following is not 4 terrestria|
(1) Pond]

(2) Desert

(3) Rainforest

(“4) Grassland

(5)  Not Attem pted

The SI unit of mass is :

(1)  gram

(2)  kilogram

(3)  pound

(4) ounce

(5)  Not Attempted

A boy is standing at a distance of 50 cm from
the plane mirror. What will be the distance
between the mirror and the image ?

(I) 100cm

(2) 25cm

(8) S50cm

(4) 75cm

(5) Not Attempted

No medium is required for transfer of heat by
the process of

(1) Radiation

(2) Conduction

(3) Convection

(4) Transpiration

(5) Not Attempted

and are water borne

diseases.

(1) Typhoid and Meningitis
(2) Beri-Beri and Dysentery
(3) Scurvy and Cholera

(4)  Polio and Rickets

(5) Not Attempted

Page 5
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Scanned with CamScanner




Join Telegram Group "gradein”

22. Treiffen = i

(1] (1)
) T ()  FESRE
B) dgE (1)  sfemm
(C) iR (1)
D) fowmd & (V) o

(1) (A)-(I), (B)-(1V), (C)-(11), (D)-(1)
) (A)-(), (B)-(1), (©)-(1), (D)-(IV)
3)  (A)-(1v), (B)-(II), (C)-(II), (D)-(1)
@) (A)-(), (B)-(), (C)-(IV), (D)-()

(5) S TR <1 =R |
23. 2 T 3 HR -3 S A ©
(1) feafma
) fefmB1
@) faafmc
4) faa@@D
(5) S e ol e |

24. Freffaa 3 @ St Hoel HI ERH T g2
(1) e (fe) F sufertd
2) firet &1 Sufefa
(3) it g @1 &gl SR SRR IR
(4) VRR & 7eF o & god | fRj ek 9w @
TR BT Sl § |
(5) W TR o IR |

25. BUe;ERE A’ SR T HRUE

22.

23.

24.

25.

Match the following :

M ™ k stem
(A) Lamina 1
(B) Petal i Ova:Y

e () Lea
(C) Pisti ) Flower

(D) Creeper
(©)-(0), (D)-(0)
©)-, (D)-(IV)
(-, (O)-D)
(©)-(v), ()-)

(1) (A)-(), (B)-(IV),
)  (A)-(1), (B)-(11),
3 (A)-IV) (B)-(11),
() (A)-1); (B)-(111),
(5) Not Attempted

- causes beri-ber
Deficien _—

disease.

(1 Vitamin A

(2)  Vitamin Bl

(3) Vitamin C

(4) Vitamin D

(5) Not Attempted

Which of the following is not the characteristi
of fish ?

(1) Presence of fins
(2) Presence of gills
(3) Long backbone with cylindrical body

(4) Head and tail smaller than the midd
portion of the body.

(5) Not Attempted

Hepatitis ‘A’ is caused by :

(1) m (1) Bacteria
(2) femmy (2) Virus
3) PIH (3) Fungi
(4) QRIS (4)  Protozoa
(5) W el o1 918d | (5) Not Attempted
VNATH / G1 3G BT P feTu T1e / SPACE FOR ROUGH WORK g
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26.
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9 S 31 Y vomg o ¥ 26. Earthworms breathe through their
(1) wwS (1) Lungs
(2) VAt (2) Tracheae
3) TSl (3) Gills
@ == (4)  Skin
(5) S TR ¥ =R | (5)  Not Attempted
27. Frefufes § ¥ : Ep A 27. (Yle)ast iSSu::d in the production of :
e ?
(2)  Oxygen
(1) ﬁ (3)  Alcohol
(2) SRS (4)  Hydrochloric Acid
(3) 3R (5) Not Attempted
(4) TR 37
(5) ST G <A1 9Rd | 28. Intheyear 2016, the Government of India has
: initiated a mission called under
28. T4 2016 T YRG THR I Ty fier wthicthda proper Sewage disposal have been
= started.
anm%mm %%m# arrta 3fea arfed #e fgem 1) Ugwala
YETRAT T = (2) Udaan
(1) ST (3) Swachh Bharat
(2 M (4) Namami Gange
(3) =S HRd (5) Not Attempted
(4) I TN
(5) I TR <1 =R | 29. Match electrical component given in
Column - I with the symbol given in
. < ' . s Column - II :
29. g-;ﬁ?@ﬁgﬁmﬁm-nﬁmm Column - I Column - II
e i : ST (A) Electric cell (1) o L L
@A) foga 9 n —4—+ N
(B) Switch in ‘ON (1)
B) ‘o1’ feufq ¥ e (11) @ position
(C)- Electric Bulb (1)  ———
(C) forepd et (I e (D) Battery ) —-
(D) EEy ) —f= Choose the correct option :
T forere g - (1) (A)-@, B)-(, (O)-), (D)-(V)
(1) (A)-(1), (B)-(1), (C)-(11), (D)-(IV) @  (A)-, B)-0, €)-W, O)-0V)
@) (A)-(1), (B)-(), (C)-aD, (B)-0V) (3)  (A)-aV), (B)-(), (O-(); (D)-(I1D)
3)  (A)-(V), (B)-0), (C)-(1), (D)-(111) 4 (A-QV), B-0, (C)-(11), (D)-(1)
@)  (A)-1v), (B)-11D), (O)-(D), (D)-() :5) ok Att’e mpted
(5) R A e | Page 7
VNATH/ G1 =% el 3 ferw 2arreT / SPACE FOR ROUGH WORK
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30. WIS i I TUUH FN Feewar § FTER H1ged # | 30, The property of metals by which they can by
WWWWW%7 beaten into thin sheets is called :
(1) <elehal (1) Conductivity
2) ytafran evan (2) Reactivity
(3) = (3) Ductility
: (4)  Malleability
) (5) Not Attempted
(B) SR o =R |
. . 31. Fivechildren A, B, C, D and E are standing i
31. U= EHA A, B, C, D T E IW &I 3R Hg Hleh Th a row, facing North but not necessarily ingthré
e 8§ @ € A stavas 7 & fr st wa A &) same order. ‘C’is to the right of ‘E’ and to the
« ’éﬁ?éﬁ’\‘iﬁtaﬁ'{ A’ FaE AT AR D F ‘left of ‘A’. ‘A’ and ‘D’ have one child between
;%‘;3 N T{'ﬁﬁ,%‘ RN them. Who is in the middle of the row ?
T TR | L .
(1) E
¥ X
(3] B B3 B
4 A 4 A
(5) SR <1 =R | (5)  Not Attempted
32. 9 3t orer %-q;igaﬁ srafed A 4 fegrmar | 32- A set of English letters is given below in a
21 dEmsl % 39 GANH o1 999 F¢ Ty STTER jumbled order. Select the combination of
38 1 AR FE W o numbers so that the letters arranged
T STl ¥ o | accordingly will form a meaningful word.
oy e - e . C P K T 0 E
1 2 3 4 S 6
(} 38,51,4,2,6 \QOC'<,-3% Q) 3,5 1,426
@) 21,58 6,4 Q(,O\L%@’\ 094°1,4, 2,
@) 251,364 ¢ OOQ\(,‘(/ 2) 2,1,5,3,6,4
4 41,5236 XY (3) 2,51,3,6,4
(5) I T TE W Sa kRS
(5) Not Attempted
8. IQ, RFFFEH @ Q, R A fra
W%af %;‘ﬁ PH G, @ Q, 33. If‘Q’is brother of son of R’s son, then how is
Hi'e s ‘Q’ related to R’ ?
1) = (1) Son
(2)  <TET/HME (2) Uncle
(3 U= (3) Grandson
(4) =R /A ()., Copsm
(5) M & 2 9 | (5) Not Attempted
VNATH/G1 I 1Y o feru 2RIl / SPACE FOR ROUGH WORK Page 8
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34. dgfe fordt 94 § 25 37T & TFaAR §, d1 39 TE H | 34. 1f 25t of August in a year is Thursday, then
fopaa TR B 2 how }r?’,imy Tuesdays will be there in that
mont
1 3
((2]) 5 (1y 3
@ 4 o B
@ 6 B 4
(5) STl &A1 =R | 4 6
(5) Not Attempted
35. QYA IR 39F g fehd 1 R 11 fem e €1 fau
pLL el WA A g IR § W [ 9 | 35. Two statements are given, followed by two
i € @1 A Fdd 2 &, fvia w fE sm-uy8 conclusions I and II. Assuming the
ﬁmmmm% SR W aHgTd ®9 9 frereran staten}ents to be true even if they seem to be
at variance from the commonly known facts,
%/ﬁra”_a—a &7 decide which of the conclusions logically
AT follow/follows from the given statements.
\. Statements :
gt TR FA 3 |
. All animals are dogs.
P WA @ |
Z_'Zﬁ Some dogs are dangerous.
. ; Conclusions:
L gt SR WA ¢ | _
; L All animals are dangerous.
oL FEF g II. Some dogs are animals.
(1) haet f1h 1 %l (1) Only Conclusion I follows.
(2) CER] frrend 11 frhera 2l (2) Only Conclusion II follows.
(3) e 1 3R 11 Sl fed 2 | (3) Both Conclusions I and II follow.
(4) Al ﬁﬁh'ﬁf £ AR A &I fehc gl 4) Neither Conclusion I nor II follows.
(5) W &l & e | (5) Not Attempted
36. o ¥ ferareiiet Rik @ i %’ I 36. Kilometer is related to Distance in the same
) e e ¥, way as Newton is related to :
3 (1) Acceleration
1 LUl
1) 2 Density
EECRS )
@) (3) Force
(@ =@ (4) Momentum
(4) Ho H (5) Not Attemp;wii_______/—g
" =Ed | Page
(5) W T < oy e SPACE FOR —~E FOR ROUGH WORK
VNATH/G1 :

T

Scanned with CamScanner




Join Telegram Group "gradein”

37. AR Juan w SUSIRMEIGCHIE L
11,12, 16,25, 41, 3

(1) 65

@) 66

3) 69

@) 72

(5) W | =R

38. foauwm = 999 wifSw .
(1) 3=
Q) TR
(@) s
(4) T
(5) WG <A1 TR |

39. e & fAfved Fewmn § ‘COVET & FRYHW’
foran = €, @ 3§ 9w ¥ HIDE? & = foran

T ?

(1) KLEF

(2) KLGH

(3) KLEI

(4) KGEF

(5) S AR < 4T |

40. UF FAfH IW fomn # 4z w1k @el &1 9 I
fem 4 135° g a1 &, 3% =g afeorad fowm §

90° Y 11 &1 %19 39 g forg famn # 82

37. Find the next term of the series :

38.

39.

40.

11, 12, 16, 25, 41, .. 2 ..

(1) 65
2) 66
(3) 69
(4 72

(5) Not Attempted

Find the odd one out :

(1) Ginger
(2) Carrot
(3) Potato
(4) Tomato

(5) Not Attempted

If in a certain code, ‘COVET’ is written a:
FRYHW’ then how will ‘HIDE’ be written in th:
same language ?

(1) KLEF
(2) KLGH
(3) KLEI

(4) KGEF

(5) Not Attempted

A rnoan is i:acing North direction. He turm:
135° in anticlock-wise direction, and then 90

in the clock-wise dj .

€ direction. Whj s antion
i i . ion
is he facing now ? hich direct

) v (1)  North-East
(2) W (2)  North
(3) IW-ufr=m (3) North-West
(4) dfeEm (4)  West
(5) W E < e | (5)  Not Attempted
VNATH /G1 TG rel 3 f0 72me / SPACE FOR ROUGH WORK \Paﬁ
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41. 17 TEURIT 720 9wy w5 WY N ww e %

I
(1
)
(3
@)

(5)

42. TRAS (28137 - (15— )| =58 B, A » 31 713

a
® .

(1
(2)
3)
4
(5)

43. AT BT FEE: T 22,500 991 ¥ 35,000 fraw =,
T SR T fEa1 1 27,600 F FA A E B H

W2
(1)
(2)
(3)
(4)
(5)

(3)

(4)
(5)

Join Telegram Group "gradein”

s V‘T‘.ﬂ ® | U, ﬂr: Enl R ey 3P
T 45
T 50
X 8§
TGO

~29

-19

19

29

TR TE < = |

10,800
¥ 14,400
16,800
219,200

=9 T8l o1 9T |

2 2 .
_lgaXx tY smmAem:
3 e

- 10

4
5
4
-5

4
-5

3

VNATH / G1

41, On elling |7 halla fae T 720, there is a loss
truAl o the coat price of 5 halls The cosat
prive of ane Hall i
‘VV' ’ ,
{2y T 50
{3) TS5
(4) ? 60

.

(5) Not Attempted

42, IfA5 —[28 - 37 (15— )] =38, then the vaiue

of xis

(1) =29
(2) - 19
(3) 19
(4) 29

(5) Not Attempted

43. A and B started a business by mvesting
T 22,500 and T 35,000 respectively. Out of a
total profit of T 27,600, B's share s

(1) 10,800
(2) T 14,200
(3) 16,800
(4) 19,200
(5) Not Attempred

. . R e ’}_'
44, |If . 1 . then the value of ——=
y 3 « - U
- 10
o
>
@ 5
-3
@
S
"“ 3
o ! 1 ”pu‘d /
(2) Not Attt e — -
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Join Telegram Group] f"g{?%%g%ﬁ of the diagonal and the area

A Tt st % forhol <t e wen dwer s

25 T a0 168 1 Hiex ¥, T 31y i et o
¥

(1) 12

2) 17 H.

(3) 24T

4) 31

(5) SW TR < =R |

L RO S Y R e i uft 12 o6t # T
TTH o S © 2

(1) 8%%
) 8%%
3) 8%%
(4) 9%%
(5) W TR & = |

55. 37U U 9 9 Thed I U Siel G ¢, Sl 34
20% Fg1 fred W1 &1 AfE 39 % 1,600 feu at fret &
3 FH- U1 39 Theq & Th Sg & 3ifehd e

53.

54.

55.

5 m and 168 m? respectiyg

rectangle are E e of the rectangle is ;

then the longer sid

(1) 12 m
(2 17m
3) 24m
(4 31m

(5) Not Attempted

At what rate of simple interest will a sum
money doubles itself in 12 years ?

(1) 8-(1?%
2) 8—:13—%
(3) 8%%
(4) 9%%

(5) Not Attempted

Arun buys a pair of skates at a sale whe
the discount given is 20%. If the amount!
pays is X 1,600, then which of the following
the marked price of the pair of skates ?

" (1) 1,280
(1) 1,280 o
((32)) : 11 :52(()) 3) ¥1,920
4) ¥2,000 4) ¥2,000
j (5) Not Attempted
Tl-(is/)G1 — — ZTEEERJ(E’E%TUI?-TH/SPACE FOR ROUGH WORK l?a?
A g
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56. Choose the correctly spelt word. 60. Pick
(1)  humorus . ,." out the part of the sentence which has an
(2) ~humorous rror. If there is no error, vour answer is (4).
3) humoros This is the third communication [ have sent /
(4) humarous (A)
ttempted ,
(5) Not Attemptec and Tam much surprised /
g7. Choose the alternative which best expresses (B)
the given sentence in Passive Voice at receivin
< ‘ ol L g No answe
The accountant took the cheque from the 7 (C) o
customer. ) 1) @A)
(1) The cheque is taken from the customer 2
by the accountant. (";) (B)
(2) The cheque was taken from the :4: I(VC) ‘
customer by the accountant. o error
(3) The customer was taken the cheque by (5)  Not Attempted
the aclfountall;lt-d 61. Fill in the blank with suitable alternative.
@) The cheque had been taken from the You will not overtake him unless you
customer by the accountant. (1) sleep '
(5) Not Attempted (2)  walk quickly
58. In the following question, the first and the last (3) play
of the sentence are numbered S; & Sj,. (4) reading
The rest of the sentence is split into four parts (5)  Not Attempted
and named P, Q, Rand S. These four parts are | 62 i
? ) . Ch 1 ‘hi st > > €3 Y
jumbled. Re-arrange them in correct order oose the alternative which best expresses
. . the meaning of the underlined idiom
S, - Even today in many countries They sold their old house b et
P - neglected and there are far ) TR
Q - women continue to be a white elephant
R - who have had the benefit of (1) very large
S - fewer women than men (2) useless
Sg - education and vocation training (3) very comfortable
(1 PQRS (4) collapsing
2) QPSR (5) Not Attempted
3) RQPS 63. Find out the antonym of frequent’.
4 SQRP (1) rare
(5) Not Attempted (2) return
59. Change the following sentence into indirect (38) fear
speech. (4) alarm
Shakti sai < friend, “Look out! There is (5) Not Attempted
ti said to his f ,
a snake behind you”. 64. Find out the synonym of the underlined word
(1) Shakti told his gliﬁddt%i:ﬁ()k ont as in the following sentence.
i ake behin ' : - : :
2 ‘:Sh}f;f(tlis eaxcslr;imed to his friend with To travel hopefully is a better thing than to
surprise that there could be a snake arrive, and the true success is to labour.
; » ) 1) rationally
(3) 222]122 l;lrrsl;lakc behind him, Shaktl :2) positively
e et L 3) negligence
asked his friend 10 1901{ ou e 8 glig
(4) Shakti warned his friend that there was (4) carelessly
a snake behind him. (5) NotAttempted
(5) Not Attempted el WORK Page 15
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70.

71.

72.

73.

74.

75.

o 7 P e T BT Y 9 T © 2
(1) T S ot o1 HR e T '
() TR AR R

(3) =l feE H e ® T

(@) el A g A e

(5) ST & A |

for T 3 e IE YU 2, 39 FeEd © -
(1) wHaRA

(2) @EHlfe

@ f&1

4) oEE

(5) ST TRl oA AR |

faw g for faheq § =t 1 g5 TR ?
(1)  gfgm

2) S=EA

(3) &

4) e

(5) ST <A =Ed |
‘T 3R Hem F o9 S aal’ & (g Aty SugEd
TH V= -

(1) fa
(2) TERY
(3) TR
(4) TRE

(5) SRR <A =R |

‘Fr.+3Ten’ & AN G T Al FalTHE I9GT I
3.

(1) TFremm

2) Tremm

(3) fwmm

(4) e

(5) ST & = |

‘ot i N w H RTe 1 Wi SUgE oy
3o

(1) Fferamferen 3=Ifd BT

(2) ATy T I WS HL

(3) ST 1 A ST

4) ofa et @ @ =

E S A —

65. Choose the correct alternative to improve the
underlined part of the following sentence. If no
improvement is required, your answer is (4).
Passengers are requested not tosit on the floor.
(1) tonot sit
(2) tonot to sit
(3) requested to sit
(4)  No Improvement
(5) Not Attempted

66. HIA-WI AT Het FHH H IR © ?

(1) 3w e ad &t R

(2) IHY AR I T i
(3)  fer R W |

(4) TY DI WS T

(5) SR <A =R |

67. ‘TW AT # ¥ WA Y’ A Y@ithd W= H

Haifies SUge qaigaTet s ¢ -
(1) =fesht

2) S

3) 3@

(4) e

(5) ST AR |

68. ‘aTF eI ¥ AN § S ol VS T € -
(1) T
(2 T
(@ o=
(4) THER
(5) SHT =R |

69. ‘ﬁ@ﬁﬁm%@ﬁﬁaﬁ'wmﬁ
gfte & IR e
(1) 3941 TR ohl
2) CEEIC] Wﬂ £l
3) gzzra 3T EFT
(@) AR W Ell
(5) e el A1 =ed |
VYNATH/G1
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76.  How many districts are there in Haryana ?
1) 21 (m 21
(4 22 2) 22
@ 23 (3) 23
4) 24 W 2
(5) 3T HE AW HIE | (5)  Not Attempted
7. TR MR (WA vn ) ¥ ey i fafafiag 1 77. Consider the following statements in respect
REER:) HH TE R ? of National Security Guards (N3G)
(A) TETH W v W qee i 3 (A) f“)!;;r;‘r::;r:—nal Headquarter of NSG is in
B TR T AT 5 Frefomi ) (B) NSG comes under the contral of Union
“ﬁaﬂﬁﬁaﬁ?—m/ﬁwvﬁ%/%> Ministry of Home Affairs.
(1) ‘éﬁa(/_\) Which of the above statements is/are
correct ?
AR (1) (A only
@) (A) 3R (B) A 2)  (B)only
@) 3N (@A) W% (B) (3)  Both (A) and (B)
(5) SWTE T ERAI (4)  Neither (A) nor (B)
(S)  Not Attempted
78. i ¥ 5w 78R ¥ vfug goge 19 W smee
eamm I e g2 78. In wl"lich month of the vear, the famous
N il;ge’grl::;d mela is held every vear in
() fewm (1)  March
(3) FwH (2) December
4 wE= (3)  October
(5) W TE T HEA | (4)  February
(5)  Not Attempted
79. HerdRd F1et 4 efarn & fan fam v @ s fir
TN E? 79. In the Mahabharata pernod, which term was
(1) e used for Haryana ?
(1)  Haribanak
Q) W (2)  Bahudhanyakya
(3) (3) Hariyala
(4) e (4)  Haryanak
(5) I AL = e | (5)  Not Attempted
VNATH/ G1 3% 3T % fe10 2@iret / SPACE FOR ROUGH WORK Faan
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81.

82.

83.
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T 3 Wit foyamgn = 23 3% fon ufad A
SRR T T

” " Y e W fifse frae vden
TSN WEE W )

(1) H§ 1 wemm
(2} = e
(B) e
(4) = wRre
5) SWE ==

ﬁwﬁf@aﬁﬁaﬁ?mmmw,mﬁn
TS T3 R 2

(1) i sifqa o
(2) SHFRUA

3) & T = i
(4) & T=Ha e
(5) S El <A =R |

A T3 Fiasiel FEE AreE g fea it
§-d H Y FE F ©g Faia e =l stfsfia
fEar S g ?

(1) 2
2 3
3 4
4) 5
(5) W?ﬁéﬂml

faﬁf‘aﬁaﬂﬁﬁmfﬂmqagﬁmvnmmqm?

@ A
g SR
g T

80.

81.

82.

83.

mote the ancient Heritage of Pi‘}J'Ore,
‘ held every year. One is the
which is the secong

To pro
two festivals are i
Pinjore Heritage festival’

one ?

(1) Orange festival
(2) Dates festival

(3) Mango festival
(4) Lemon festival
(5) Not Attempted

Who among the following is the Minister of
Environment, Forests and Wildlife of Haryana
State ?

(1) Shree Anil Vij

(2) Shree Kanwar Pal

(3) Shree Mool Chand Sharma
(4) Shree Dushyant Chautala
(5) Not Attempted

Mukhya Mantri Pragatisheel Samman Yojana
is to motivate the progressive farmers for
adopting best agriculture practices in how
many categories of land holding ?

1 2
2 3
@) 4
“4) S5
(5)  Not Attempted

Which amongst the followin

of Haryana ? 8 1s the State Tre

(1) Banyan Tree
(2)  Sacreq Fig
) Mango Tyee
@)  sal Tree

(5)

Not Attcmpted

VNAT

. ____Tot Attempted
/ﬁ%@wﬂ / SPACE FOR ROUGH WoRk
H/G1
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(B) Wﬁ%mm%
SR A FR-w A TR E@ Y
(1)  %aa (A)

(2) = (B)

) (A) R (B) S

4 T (a) RAD (B)

(5) W EI < = |

84. Consider the following statements :

Rohtak has a Police Commissionerate
located there.
Sonipat has a Polic
located there.
Which of the above statements is/are
correct ?

(A)

(B) e Commissionerate

(1) (A)only

(2)  (B)only

(3) Both (A)and (B)
(4) Neither (A) nor (B)
(5) Not Attempted

85. fo a4 2022-23 % o, s w9 & wrea ¥
fere g1 = 1 fora ftrow ereifeq fFn T €2 | 85, For the financial year 2022-23, what is the
(1) 14.2% percentage of the total expenditure allocated
2) 6.2% towards Health in the Haryana State ?
(3) 8.5% (1) 14.2%
4) 5.8% (2) 6.2%
(5) TR Gl <A1 =R | 3) 85%
4 5.8%
86. frifafaa ol W faar FifT - (0] ke
(A) Fritad 3R =R $i Ha ool & @Y et _ ,
3 86. Consider the following statements :
®) P G T & (A) ]S)Z?l’il;i).at and Jhajjar share border with
STF H § FA-91/Q FYTE ¢/8 2 (B) Rohtak does not share border with Delhi.
(1) W(A) Which of the above statements is/are
correct ?
B . (e (1) (&) only
3) (A) 3R (B) 2 2  (B)only
(4) AW (a) A (B) (3) Both (A) and (B)
(5) ST R A = | (4)  Neither (A) nor (B)
(5) Not Attempted
g7. o fFg TS % Sidia § 2
' (1) TS 87. Neemrana comes under which State ?
2) R (1) Rajasthan
2 (2) Haryana
I . (3) Punjab
4] eEs (4) Uttarakhand
(5) ST e | (5) Not Attempted
VNATH/G1 - % 1t 3 feTw Zarmer / SPACE FOR ROUGH WORK - Page 19
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ya Sabha seats does Haryana

88 vHow many RJ

L ?
88.  gfon e v W A el W €7 1(’3“" ”
(1) 8
@ 7 @ 7
@3 6 @ ©
4 s 4) d
(5) W& = (5) Not Attempte
. i statements :
89, Freferfas sy R far Fifa gg. Consider the f(;llilgwcl}?;‘iu dwara is situated in
(A) e wifew g sramen # &1 (A) Nadbaalia
B) =1 s TegRr SR 7 ¥ d@ W . ?Izlda sghib Gurudwara is situated on
STEF A Y H-T/ Y For wE ¥/ ? ®) the bank of river Ghaggar. .
((;) *d (A) Which of the above statements is/are
) %9 (B) correct ?
B)  (A) ik (B) 3 (1) (A)only
4 Fd (A 2) (B)only
(5) ww =(rs°: eaj: ;f; . (3 Both(A)and (B)
! ‘ (4)  Neither (A) nor (B)
d
90. f¥yg ISR 3 ; - o 22 (5) Not Attempte
(1) =gen 00. In which district is the Indian National
) TEIm Defence University located ?
3) W@ . (1) Panchkula
4) =FEW (2) Gurugram
. : (3) Faridabad
(5) IR &= . (4) Karnal
o ; N ted
O1. 3few it atfe S v oA O e | ) o oRe
IESR: R 91. Indira Gandhi Super Thermal Power Project
(1) &K is situated in which district of Haryana ?
(1) Jhajjar
(2) fan :
(2) Sirsa
(3) feam (3) Hisar
4) &< (4) Jind
27 =TRd | (5) Not Attempted
(5) S o
22 92. Garima Chaudhary is well kn ich
92. AT ?ﬁuﬁf&ﬂ?‘@ﬁﬁmm - we own for whic
(1) (1) Judo
(2) Kabaddi
(2) EXE (3) Wrestling
3) caall (4) Archery
) ?ﬁ@aﬁr R (5)  Not Attempted
; | _—
5 7@ < =t SPACE FOR ROUGH WORK Page 20
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3. FrrAfefed 7 Q forem sfamon #1 3 A wh Z § | 98, Who amongst the following did not play for

& e an? Haryana in Ranji Trophy ?
(1) ¥R fae (1) Maninder Singh
2) Hfud <F (2)  Kapil Dev
(3) qfe<X T (3)  Rajinder Goel
) TR AR (4)  Sarkar Talwar
(5) ST ol AR | (5)  Not Attempted
4. EIEEI forg ot o feord g7 94. In which district is Narnaul situated ?
1) T (1) Jind
2) A (2) Kaithal
(3) Mahendragarh
i i (4) Rohtak
(4; 2:::-& Gl Ted | (5) Not Attempted
(5
. P 78 s 1 A AT | 98 i e ?
ST @ TS € 2 ————
m e (2) Ratvai
! Tzag (3) Phag
b T (4) Gugga
i quﬁ T = (5) Not Attempted
(5) W
¢ ! . 06. Who was the author of epic Mahabharata’ ?
06, TR TEIMRE’ & T HA € T i
o mmq (2) Kalidas
i Tﬂ@ﬁ'ﬁ? (3) Maharishi Valmiki
s i 4) Maharishi Vedvyasa
) %ﬁq::;:‘ e | (5) Not Attempted
(6) W

ing i t amongst the
ich one of the following is no g
- on growing districts of Haryana g

)7. et & & S SRATT F YIE FAE S | 97

major cott
ﬁﬁﬁﬁa@qﬁ%? (1) Sirsa
o - (2) Sonipat
- o 3) Ambala
B (4) Rewari
o bk > (5) Not Attempted
ki Page 21
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99,

100.
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i
e LT (S 1) et
o .

(A) PR )
B 5
) s A A T A0S
T St 1t wfmmon
%%I FHTEARE
TN X B et 2
(1) (A)
(2) (B)
B) (&) sk (B) 2
(4)  TI@ (a) s (B)
(5) S a1 =y
*3frg iy wfEmn § feg e w d?
(1) I
(2) wfean
(3) <M
(4) HOR
(5) SR TEl & AR |
faron 3 el R el e W o o
g I @ ?
(1) A
(2) Al
@ W
4 E
ES; T 2T

.o00-

98.

99.

100.

g statements about Gross

i lowin

g?:tsel(lj)ecl)'rg:;tf?c} product (GSDP) :

() GSDP of Haryana is more than that of
Bihar.

B) GSDP of Punjab is more than that of
Haryana.

Which of the above statements is/are

correct ?

(1) (A)only

(2) (B)only

(3) Both (A) and (B)

(4) Neither (A) nor (B)

(5) Not Attempted

‘Ottu’ barrage is on which river in Haryana ?

(1) Yamuna

(2) Sahiba

(3) Tangri

(4) Ghaggar

(5) Not Attempted

Boojali, an ornament is worn in which part of
the body by women in Haryana ?

(1) Ears

(2) Forehead

(3) Foot

(4) Nose

(5)  Not Attempted
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